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Three forces acting on the ring as shown in Figure (1), and Figure (2)
shows the addition of the three forces (F a4, Fg, F¢) acting on the ring, so
that the three vectors form a closed triangle.

- Which of the fullowing statements is not correct?

Fy

Figure (1) J<l , FA
/ l FC A
+ * e —— =
o - —/ . "

Figure (2) K.l Fe
! ! (Fa, Fig, Fo) o) ol pas 3ukas (2) U0 cidy (1) JSA01 § LS il 3545 05 3t
| .um&mumtawlgﬁaﬂ.mﬂl.g

Tlaimie e AaY1 oty o gl

A The net force acting on the ring is zero
Brise (gglaad Akl § 53301 od!l Asani
B The system (ring with forces) is in equilibrium
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a The equilibrant has the same magnitude and direction as the resultant force
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As shown in the figure below, a string exerts a force of

(18 N) on a box at an angle of (34°) from the horizontal.

What is the horizontal component of the force on the box?
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A force was applied to pull a block across surface (a) at a constant velocity and
the amount of pulling force equal to the friction force was recorded. Additional
blocks were then placed on top of the first block to increase the normal force and
the measurement was repeated, recording the data as shown in the figure (1).
The previous procedure was repeated by replacing the surface (a) with surface
(b), then with surface (c), and the data was plotted as shown in the graph.

Studying the graph, which symbol represents the roughest surface?
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If F, is the kinetic friction force, and Fy is the normal force. What does
it mean when the coefficient of friction is greater than one (pu; > 1)?
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The figure shows the trajectories of two balls, red and blue.
From the same height, the red ball is dropped, and the blue
ball is launched with an initial horizontal velocity. The
horizontal lines in Figure indicate equal vertical distances.

Neglecting air resistance; Which of the following
statements does not express the motion of the two balls?

5,S01 i (daniis p L3I o ey g ol pan o (5)S Dllame 2703 JSad!
’ o -« i
J il Lo glasell A5 Aty Al Ao puns 615311 5,51 cailloly ol pasel!

s p\q’-\

gLl Agued )l cilbluak ! ) S
§00,SI) 4S5 (pe siad ¥ AsYl Sulylad! g el ggd) Aaglia Jleab

The fwo balls accelerate at the same rate

The vertical distance traveled by the two balls is equal
Lgluule U,SU1 Lalads QI Al Jl aald)

At the same moment, the two balls have the same velocity
L &yl (5,80 Lo Alazell) § 095

The vertical velocity of the two balls is equal at the same moment
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- A disc attached to a string undergoes
circular motion on the horizontal surface

'~ of a frictionless table. Which path will
the disc take if the string breaks at the
point indicated in the figure?
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An airplane is flying north with an air speed of
(200 km/h) when it encounters a crosswind of
(70 km/h) toward the east, as shown in the figure.

Which expression gives the resultant velocity of the airplane?
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You prepare breakfast and slide a plate on the table. Unfortunately, you
slide it too fast, and it flies off the end of the table. If the table is (1.10m)
above the floor and the plate leaves the top at (1.00 m/s).

How long does the plate take to fall to the ground?

Uglall 2ils Gadall ysley (1. 10 ) yludas ] e pddy jesdall Wgllo phase O 13] . fudall Wgllo iho

-\l
2 ~ ¢ 81 Il Jada G Belall Lyiian @1 301 La
a.

DasL

Ugﬁf.

‘g.j ( T




The figure shows a car with a mass of

(1200 kg) turning around a curve of
radius (45 m) at a speed of (12 m/s).

Find the centripetal force required to keep
it on the circular path.
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P e. as shown in the figure
A. A box of mass (m) is at rest on a rough surface, b box acceleration

below. A group of students studied the change In S

(a)asa rEsrultpof the change in the net force acting on it (f‘ net): Tlf::&
they represented the experimental results of the acceleration :icqll_l o
by the box when the net force acting as in the curve (accelelfa tllln :
force) and obtained the straight line that best fits as shown in the grap

below. Answer the following:
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Find the mass of the box (m).
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